Numbers to 10,000

7. Draw arrows to match the calculation. One has been done for you.

' D.|
Eight thousand | |
J | +100 | 6,405
| and three |
| Six thousands, \: ¢ _ E. ’ - ‘
. fourteen hundreds and ‘ i =10 ‘ .
, five ones \ J . | 5000 |1,000/ 60 |13| |
C. ‘ \ F.| Seven thousands, eight
5,973 ‘ - 1,000 ‘ ! hundreds, nineteen tens

!. and three ones
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8. Use the digit cards to complete the stalements below.

0 7 9
One th d and
95 < ey - 100
Tonaredanamiy * 1.0 00 > 9, 3] |0

Six thousand, four - 1 0 < 6

hundred and two ’ 3 3
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9. Rastislav has represented the numbers A, B and C below. He says that the numbers
will be equal if he subtracts 10 from A, subiracis 100 from B and subtracts 1,000 from C.

( ) Five thousands,

2?
g ( two hundreds, '
nineteen tens 5,000 |1,200| 80 |14
1 300\ and four ones.
./

Is he correct? Explain your answer. RPS
HW/Ext




Compare and Order to 100,000

7. The children are making numbers. Order the children’s numbers from the least to the
greatest.

0,000 1,000 6 100 1,000 10
- - 10
1,000 = 10 1,000 100

10 100
Isra % 1000 B @ 0o @
M TR To =5

23 | 53 | 20 2 A%
Jess Amber

Thirly-six thousand, four
hundred and nine

VF
HW/Ext

8. Complete the statements using the numbers below.

4, ,100/117 @ Sixty-one
59,408 s1000 15 l . thousand and
@ ninety-seven

a. < 53,284 b. < 59,300

c. 61,294 > d. < 61,019
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9. Use the digit cards and clues to create four 5-digit numbers and order them from
smallest to largest.

. E] . The tens of thousands digit is odd.
The ones column must be even.
The hundreds digit is two more than
| two I l Vi \ the tens of thousands digit. )
RPS
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